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QUESTION 1

Refer to the exhibit. 

What is the result of merging the fabric? 

A. The merged fabric IVR VSAN topology is set to activate. 

B. The merged fabric has NAT enabled. 

C. The merge is invalid. 

D. The merged fabric contains only service group Group1. 

Correct Answer: D 

 

QUESTION 2

Which feature on MDS platforms ensures that the code that is running on the hardware platform is authentic and
unmodified, while also validating the BIOS to eliminate any rootkits. 

A. Cisco Secure Boot 

B. UEFI Secure Boot 

C. Secure Unique Device Identifier 

D. BIOS Secure Boot 

Correct Answer: A 

 

QUESTION 3
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An engineer is configuring a SAN environment and attempts to activate a zoneset, but a lock is held by another user.
Which argument does the engineer use to clear the lock from the zoning database configuration? 

A. commit 

B. abort 

C. clear 

D. force 

Correct Answer: C 

 

QUESTION 4

What does an unlicensed DCNM SAN fail to display? 

A. Fibre Channel, FCoE, and iSCSI topologies 

B. events and fault management 

C. historical performance monitoring 

D. real-time performance monitoring 

Correct Answer: C 

 

QUESTION 5

Which action must be performed to deactivate a VSAN without losing its configuration? 

A. Isolate it. 

B. Delete it. 

C. Rename it. 

D. Suspend it. 

Correct Answer: D 
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